



Non-linear new product $\frac{1}{2}(AB^*C + CB^*A)$ derivations on $*$ -algebras

Fariba Kazemi and Ali Taghavi*

ABSTRACT: Let \mathcal{A} be a prime $*$ -algebra with unit I and a nontrivial projection. Then the map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ satisfies in the following condition

$$\Phi(\{ABC\}) = \{\Phi(A)BC\} + \{A\Phi(B)C\} + \{AB\Phi(C)\}$$

where $\{ABC\} = \frac{1}{2}(AB^*C + CB^*A)$ for all $A, B, C \in \mathcal{A}$, is additive. Moreover, if $\Phi(I)$ is self-adjoint, then Φ is a $*$ -derivation.

Key Words: Prime $*$ -algebra; $*$ -derivation; Jordan derivation.

Contents

1 Introduction	1
2 MAIN RESULTS	1

1. Introduction

Let \mathcal{A} be a $*$ -algebra. For $A, B \in \mathcal{A}$, denoted by $A \circ B = AB + BA$ and $A \bullet B = AB + BA^*$, which are Jordan product and $*$ -Jordan product, respectively. These products are found playing a more and more important role in some research topics, and its study has recently attracted many author's attention (for example, see [2,5,6]). Recall that a map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ is said to be an additive derivation if $\Phi(A + B) = \Phi(A) + \Phi(B)$ and $\Phi(AB) = \Phi(A)B + A\Phi(B)$ for all $A, B \in \mathcal{A}$. A map Φ is additive $*$ -derivation if it is an additive derivation and $\Phi(A^*) = \Phi(A)^*$. Derivations are very important maps both in theory and applications, and have been studied intensively [1,8,9,10,11,12]. in [4], Taghavi, Rohi and Darvish proved that every nonlinear $*$ -Jordan derivation between factor von Neumann algebra is an additive derivation.

In recent years, many mathematicians devoted themselves to study the new products, ABA and AB^*A , which are called Jordan triple product and $*$ -Jordan triple product, respectively. From the work done in this field in [3], Taghavi, Nouri, Razeghi and Darvish proved that if the map $\Phi : \mathcal{A} \rightarrow \mathcal{B}$ is bijective and preserves Jordan or $*$ -Jordan triple product, then it is additive. Moreover, if Φ preserves Jordan triple product, they prove the multiplicativity or anti-multiplicativity of Φ . Finally, they prove that if \mathcal{A} and \mathcal{B} are two prime operator $*$ -algebras, $\Psi : \mathcal{A} \rightarrow \mathcal{B}$ is bijective and preserves $*$ -Jordan triple product, then Ψ is a \mathbb{C} -linear or conjugate \mathbb{C} -linear $*$ -isomorphism. Another definition that needs to be said here is Jordan derivation, which is a mapping like derivation mentioned earlier, which in this case is $D(A^2) = D(A)A + AD(A)$. It can be seen in [7]. In [13], Taghavi and Tavakoli defined a new product as $\frac{1}{2}(AB^*C + CB^*A)$ for all $A, B, C \in \mathcal{A}$. They proved that if the map $\Phi : \mathcal{A} \rightarrow \mathcal{B}$ is bijective and preserves the mentioned product, then it is additive. Also, if $\Phi(I)$ is a positive element, then Φ is a $*$ -isomorphism. In this paper, we use $\{ABC\} = \frac{1}{2}(AB^*C + CB^*A)$. In the next section, we state the main results of the present paper.

2. MAIN RESULTS

Our main theorem is as follows:

* Corresponding author

Theorem 2.1 *Let \mathcal{A} be a prime $*$ -algebra with I and a nontrivial projection. Then the map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ satisfies in the following condition*

$$\Phi(\{ABC\}) = \{\Phi(A)BC\} + \{A\Phi(B)C\} + \{AB\Phi(C)\} \quad (2.1)$$

where $\{ABC\} = \frac{1}{2}(AB^*C + CB^*A)$ for all $A, B, C \in \mathcal{A}$, is additive. Moreover, if $\Phi(I)$ is self-adjoint, then Φ is a $*$ -derivation.

Proof: Let P_1 be a nontrivial projection in \mathcal{A} and $P_2 = I_{\mathcal{A}} - P_1$. Denote $\mathcal{A}_{ij} = P_i \mathcal{A} P_j$, $i, j = 1, 2$, then $\mathcal{A} = \sum_{i,j=1}^2 \mathcal{A}_{ij}$. For every $A \in \mathcal{A}$ we may write $A = A_{11} + A_{12} + A_{21} + A_{22}$. In all that follow, when we write \mathcal{A}_{ij} , it indicates that $A_{ij} \in \mathcal{A}_{ij}$. For showing additivity of Φ on \mathcal{A} , we use above partition of \mathcal{A} and give some lemmas that prove Φ is additive on each \mathcal{A}_{ij} , $i, j = 1, 2$.

The proof of the theorem is organized as a series lemmas. We begin with the following lemma with a simple proof. \square

Lemma 2.1 $\Phi(0) = 0$

Proof: $\Phi(0) = \Phi(\{000\}) = \{\Phi(0)00\} + \{0\Phi(0)0\} + \{00\Phi(0)\} = 0$. \square

Lemma 2.2 *For every $A_{ij} \in \mathcal{A}_{ij}$, $A_{ji} \in \mathcal{A}_{ji}$, we have $\Phi(A_{ij} + A_{ji}) = \Phi(A_{ij}) + \Phi(A_{ji})$ for $1 \leq i \neq j \leq 2$.*

Proof: Let $T = \Phi(A_{ij} + A_{ji}) - \Phi(A_{ij}) - \Phi(A_{ji})$, we should prove that $T = 0$. Using Lemma 2.1 we have $\Phi(\{I(P_i - P_j)(A_{ij} + A_{ji})\}) = \Phi(\{I(P_i - P_j)A_{ij}\}) + \Phi(\{I(P_i - P_j)A_{ji}\})$. From this, we get

$$\begin{aligned} & \{\Phi(I)(P_i - P_j)(A_{ij} + A_{ji})\} + \{I\Phi(P_i - P_j)(A_{ij} + A_{ji})\} + \{I(P_i - P_j)\Phi(A_{ij} + A_{ji})\} = \\ & \{\Phi(I)(P_i - P_j)A_{ij}\} + \{I\Phi(P_i - P_j)A_{ij}\} + \{I(P_i - P_j)\Phi(A_{ij})\} \\ & + \{\Phi(I)(P_i - P_j)A_{ji}\} + \{I\Phi(P_i - P_j)A_{ji}\} + \{I(P_i - P_j)\Phi(A_{ji})\}. \end{aligned}$$

So, we obtain $\{I(P_i - P_j)(\Phi(A_{ij} + A_{ji}) - \Phi(A_{ij}) - \Phi(A_{ji}))\} = 0$. That is $\{I(P_i - P_j)T\} = \frac{1}{2}((P_i - P_j)T + T(P_i - P_j)) = 0$. So, we have $T_{ii} = T_{jj} = 0$. For every $C_{ij} \in \mathcal{A}_{ij}$, since $\{C_{ij}I(A_{ij} + A_{ji})\} = \{C_{ij}IA_{ij}\} + \{C_{ij}IA_{ji}\}$, we have $\Phi(\{C_{ij}I(A_{ij} + A_{ji})\}) = \Phi(\{C_{ij}IA_{ij}\}) + \Phi(\{C_{ij}IA_{ji}\})$. From this, we get

$$\begin{aligned} & \{\Phi(C_{ij})I(A_{ij} + A_{ji})\} + \{C_{ij}\Phi(I)(A_{ij} + A_{ji})\} + \{C_{ij}I\Phi(A_{ij} + A_{ji})\} = \\ & \{\Phi(C_{ij})IA_{ij}\} + \{C_{ij}\Phi(I)A_{ij}\} + \{C_{ij}I\Phi(A_{ij})\} \\ & + \{\Phi(C_{ij})IA_{ji}\} + \{C_{ij}\Phi(I)A_{ji}\} + \{C_{ij}I\Phi(A_{ji})\}. \end{aligned}$$

So, we obtain $\{C_{ij}I((\Phi(A_{ij} + A_{ji}) - \Phi(A_{ij}) - \Phi(A_{ji})))\} = 0$. That is $\{C_{ij}IT\} = \frac{1}{2}(C_{ij}T + TC_{ij}) = 0$. Hence $P_jTC_{ij} = 0$. Then $T_{ji}C_{ij} = 0$ for all $C_{ij} \in \mathcal{A}_{ij}$, that is $T_{ji}CP_j = 0$ for all $C \in \mathcal{A}$. By primness, it follow that $T_{ji} = 0$. Similarly, by putting C_{ji} in place of C_{ij} , we get $T_{ij} = 0$, so $T = 0$. \square

Lemma 2.3 *For every $A_{ii} \in \mathcal{A}_{ii}$, $A_{ij} \in \mathcal{A}_{ij}$, $A_{ji} \in \mathcal{A}_{ji}$, we have $\Phi(A_{ii} + A_{ij} + A_{ji}) = \Phi(A_{ii}) + \Phi(A_{ij}) + \Phi(A_{ji})$ for $1 \leq i \neq j \leq 2$.*

Proof: Let $T = \Phi(A_{ii} + A_{ij} + A_{ji}) - \Phi(A_{ii}) - \Phi(A_{ij}) - \Phi(A_{ji})$. Using Lemmas 2.1 and 2.2, we have $\Phi(\{IP_j(A_{ii} + A_{ij} + A_{ji})\}) = \Phi(\{IP_jA_{ii}\}) + \Phi(\{IP_jA_{ij}\}) + \Phi(\{IP_jA_{ji}\})$. We can write that

$$\begin{aligned} & \{\Phi(I)P_j(A_{ii} + A_{ij} + A_{ji})\} + \{I\Phi(P_j)(A_{ii} + A_{ij} + A_{ji})\} + \{IP_j\Phi(A_{ii} + A_{ij} + A_{ji})\} = \\ & \{\Phi(I)P_jA_{ii}\} + \{I\Phi(P_j)A_{ii}\} + \{IP_j\Phi(A_{ii})\} + \{\Phi(I)P_jA_{ij}\} + \{I\Phi(P_j)A_{ij}\} \\ & + \{IP_j\Phi(A_{ij})\} + \{\Phi(I)P_jA_{ji}\} + \{I\Phi(P_j)A_{ji}\} + \{IP_j\Phi(A_{ji})\}. \end{aligned}$$

So, we obtain $\{IP_j((\Phi(A_{ii} + A_{ij} + A_{ji}) - \Phi(A_{ii}) - \Phi(A_{ij}) - \Phi(A_{ji})))\} = 0$. That is $\{IP_jT\} = \frac{1}{2}(P_jT + TP_j) = 0$, from which we get that $T_{jj} = T_{ij} = T_{ji} = 0$. Using Lemma 2.1, we have $\Phi(\{I(P_i - P_j)(A_{ii} + A_{ij} + A_{ji})\}) = \Phi(\{I(P_i - P_j)A_{ii}\}) + \Phi(\{I(P_i - P_j)A_{ij}\}) + \Phi(\{I(P_i - P_j)A_{ji}\})$. We can write that

$$\begin{aligned} & \{\Phi(I)(P_i - P_j)(A_{ii} + A_{ij} + A_{ji})\} + \{I\Phi(P_i - P_j)(A_{ii} + A_{ij} + A_{ji})\} \\ & + \{I(P_i - P_j)\Phi(A_{ii} + A_{ij} + A_{ji})\} \\ & = \{\Phi(I)(P_i - P_j)A_{ii}\} + \{I\Phi(P_i - P_j)A_{ii}\} + \{I(P_i - P_j)\Phi(A_{ii})\} \\ & + \{\Phi(I)(P_i - P_j)A_{ij}\} + \{I\Phi(P_i - P_j)A_{ij}\} + \{I(P_i - P_j)\Phi(A_{ij})\} \\ & + \{\Phi(I)(P_i - P_j)A_{ji}\} + \{I\Phi(P_i - P_j)A_{ji}\} + \{I(P_i - P_j)\Phi(A_{ji})\}. \end{aligned}$$

So, we obtain $\{I(P_i - P_j)(\Phi(A_{ii} + A_{ij} + A_{ji}) - \Phi(A_{ii}) - \Phi(A_{ij}) - \Phi(A_{ji}))\} = 0$. That is $\{I(P_i - P_j)T\} = \frac{1}{2}((P_i - P_j)T + T(P_i - P_j)) = 0$, so $T_{ii} = 0$. Then $T = 0$. \square

Lemma 2.4 For every $A_{ii} \in \mathcal{A}_{ii}, A_{ij} \in \mathcal{A}_{ij}, A_{ji} \in \mathcal{A}_{ji}, A_{jj} \in \mathcal{A}_{jj}$ we have $\Phi(A_{ii} + A_{ij} + A_{ji} + A_{jj}) = \Phi(A_{ii}) + \Phi(A_{ij}) + \Phi(A_{ji}) + \Phi(A_{jj})$ for $1 \leq i \neq j \leq 2$.

Proof: Let $T = \Phi(A_{ii} + A_{ij} + A_{ji} + A_{jj}) - \Phi(A_{ii}) - \Phi(A_{ij}) - \Phi(A_{ji}) - \Phi(A_{jj})$. Using Lemmas 2.1 and 2.3, we obtain $\Phi(\{IP_j(A_{ii} + A_{ij} + A_{ji} + A_{jj})\}) = \Phi(\{IP_jA_{ii}\}) + \Phi(\{IP_jA_{ij}\}) + \Phi(\{IP_jA_{ji}\}) + \Phi(\{IP_jA_{jj}\})$. From this, we can write that

$$\begin{aligned} & \{\Phi(I)P_j(A_{ii} + A_{ij} + A_{ji} + A_{jj})\} \\ & + \{I\Phi(P_j)(A_{ii} + A_{ij} + A_{ji} + A_{jj})\} + \{IP_j\Phi(A_{ii} + A_{ij} + A_{ji} + A_{jj})\} \\ & = \{\Phi(I)P_jA_{ii}\} + \{I\Phi(P_j)A_{ii}\} + \{IP_j\Phi(A_{ii})\} \\ & + \{\Phi(I)P_jA_{ij}\} + \{I\Phi(P_j)A_{ij}\} + \{IP_j\Phi(A_{ij})\} \\ & + \{\Phi(I)P_jA_{ji}\} + \{I\Phi(P_j)A_{ji}\} + \{IP_j\Phi(A_{ji})\} \\ & + \{\Phi(I)P_jA_{jj}\} + \{I\Phi(P_j)A_{jj}\} + \{IP_j\Phi(A_{jj})\}. \end{aligned}$$

So, we get $\{IP_j(\Phi(A_{ii} + A_{ij} + A_{ji} + A_{jj}) - \Phi(A_{ii}) - \Phi(A_{ij}) - \Phi(A_{ji}) - \Phi(A_{jj}))\} = 0$. That is $\{IP_jT\} = \frac{1}{2}(P_jT + TP_j) = 0$, we have $T_{jj} = T_{ij} = T_{ji} = 0$. Similarly, by putting P_i in place of P_j , we get $T_{ii} = 0$. So, $T = 0$. \square

Lemma 2.5 For every $A_{ii} \in \mathcal{A}_{ii}, B_{ji} \in \mathcal{A}_{ji}$, we have $\Phi(A_{ii} + B_{ji}) = \Phi(A_{ii}) + \Phi(B_{ji})$ for $1 \leq i \neq j \leq 2$.

Proof: Let $T = \Phi(A_{ii} + B_{ji}) - \Phi(A_{ii}) - \Phi(B_{ji})$. We obtain $\Phi(\{P_jI(A_{ii} + B_{ji})\}) = \Phi(\{P_jIA_{ii}\}) + \Phi(\{P_jIB_{ji}\})$. From this, we can write that

$$\begin{aligned} & \{\Phi(P_j)I(A_{ii} + B_{ji})\} + \{P_j\Phi(I)(A_{ii} + B_{ji})\} + \{P_jI\Phi(A_{ii} + B_{ji})\} = \{\Phi(P_j)IA_{ii}\} + \{P_j\Phi(I)A_{ii}\} \\ & + \{P_jI\Phi(A_{ii})\} + \{\Phi(P_j)IB_{ji}\} \\ & + \{P_j\Phi(I)B_{ji}\} + \{P_jI\Phi(B_{ji})\}. \end{aligned}$$

So, we get $\{P_jI(\Phi(A_{ii} + B_{ji}) - \Phi(A_{ii}) - \Phi(B_{ji}))\} = 0$ That is $\{P_jIT\} = 0$, we have $T_{jj} = T_{ij} = T_{ji} = 0$. Similarly, by putting $(P_i - P_j)$ in place of P_j , we get $T_{ii} = 0$. So, $T = 0$. \square

Lemma 2.6 For every $A_{ij}, B_{ij} \in \mathcal{A}_{ij}$, we have $\Phi(A_{ij} + B_{ij}) = \Phi(A_{ij}) + \Phi(B_{ij})$ for $1 \leq i \neq j \leq 2$.

Proof: Using Lemma 2.5, we obtain

$$\begin{aligned}
\Phi(A_{ij} + B_{ij}) &= \Phi(\{(P_i + 2A_{ij})I(P_j + 2B_{ij})\}) = \{\Phi(P_i + 2A_{ij})I(P_j + 2B_{ij})\} \\
&\quad + \{(P_i + 2A_{ij})\Phi(I)(P_j + 2B_{ij})\} \\
&\quad + \{(P_i + 2A_{ij})I\Phi(P_j + 2B_{ij})\} \\
&= \{\Phi(P_i + 2A_{ij})IP_j\} + \{\Phi(P_i + 2A_{ij})I(2B_{ij})\} \\
&\quad + \{(P_i + 2A_{ij})\Phi(I)P_j\} + \{(P_i + 2A_{ij})\Phi(I)(2B_{ij})\} \\
&\quad + \{(P_i + 2A_{ij})I\Phi(P_j)\} + \{(P_i + 2A_{ij})I\Phi(2B_{ij})\} \\
&= \Phi(\{(P_i + 2A_{ij})IP_j\}) + \Phi(\{(P_i + 2A_{ij})I(2B_{ij})\}) \\
&= \Phi(A_{ij}) + \Phi(B_{ij}).
\end{aligned}$$

The proof is complete. \square

Lemma 2.7 For every $A_{ii}, B_{ii} \in \mathcal{A}_{ii}$, we have $\Phi(A_{ii} + B_{ii}) = \Phi(A_{ii}) + \Phi(B_{ii})$ for $1 \leq i \leq 2$.

Proof: Let $T = \Phi(A_{ii} + B_{ii}) - \Phi(A_{ii}) - \Phi(B_{ii})$. Using Lemma 2.1, we obtain $\Phi(\{IP_j(A_{ii} + B_{ii})\}) = \Phi(\{IP_jA_{ii}\}) + \Phi(\{IP_jB_{ii}\})$. From this, we can write that

$$\begin{aligned}
&\{\Phi(I)P_j(A_{ii} + B_{ii})\} + \{I\Phi(P_j)(A_{ii} + B_{ii})\} + \{IP_j\Phi(A_{ii} + B_{ii})\} \\
&= \{\Phi(I)P_jA_{ii}\} + \{I\Phi(P_j)A_{ii}\} + \{IP_j\Phi(A_{ii})\} \\
&\quad + \{\Phi(I)P_jB_{ii}\} + \{I\Phi(P_j)B_{ii}\} + \{IP_j\Phi(B_{ii})\}.
\end{aligned}$$

So, we get $\{I(P_j)(\Phi(A_{ii} + B_{ii}) - \Phi(A_{ii}) - \Phi(B_{ii}))\} = 0$. That is $\{IP_jT\} = \frac{1}{2}(P_jT + TP_j) = 0$, we have $T_{jj} = T_{ij} = T_{ji} = 0$. For every $C_{ij} \in \mathcal{A}_{ij}$, by Lemma 2.6 we obtain $\Phi(\{C_{ij}I(A_{ii} + B_{ii})\}) = \Phi(\{C_{ij}IA_{ii}\}) + \Phi(\{C_{ij}IB_{ii}\})$. We get the same as the previous lemmas $\{C_{ij}IT\} = 0$. Since $T_{jj} = 0$ and \mathcal{A} is the prime, we have $T_{ii} = 0$. So, $T = 0$. \square

Lemma 2.8 If $\Phi(I)$ is self-adjoint then $\Phi(I) = 0$.

Proof: We can write $\Phi(\{III\}) = \{\Phi(I)II\} + \{I\Phi(I)I\} + \{II\Phi(I)\}$. We get it easily $\Phi(I) + \Phi(I)^* = 0$. Since $\Phi(I)$ is self-adjoint, therefore $\Phi(I) = 0$. \square

Lemma 2.9 Φ is a $*$ -derivation.

Proof: For every $A \in \mathcal{A}$ we can write $\Phi(\{IAI\}) = \{\Phi(I)AI\} + \{I\Phi(A)I\} + \{IA\Phi(I)\}$. Since, $\Phi(I) = 0$, we have $\Phi(\frac{1}{2}(IA^*I + IA^*I)) = \frac{1}{2}(I\Phi(A)^*I + I\Phi(A)^*I)$. So, $\Phi(A^*) = \Phi(A)^*$. Now, considering $A = C$ and $B = I$, we have $\Phi(\{AIA\}) = \{\Phi(A)IA\} + \{A\Phi(I)A\} + \{AI\Phi(A)\}$. Since $\Phi(I) = 0$, we get $\Phi(A^2) = \Phi(A)A + A\Phi(A)$. We get that Φ is a Jordan derivation and since according to [7], every Jordan derivation of a unital prime algebra \mathcal{A} with a nontrivial idempotent P is a derivation. Therefore, the proof is complete. The following example shows that the self-adjoint condition of $\Phi(I)$ in theorem is necessary. \square

Example 2.1 Let \mathcal{A} be a prime $*$ -algebra with unit I and nontrivial projection. Define a map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ where $\Phi(A) = iA$ for all $A \in \mathcal{A}$. In this mapping $\Phi(I)$ is not self-adjoint. It can be easily shown that the mapping Φ in (2.1) applies, but is not a derivation.

Conflict of Interest The authors declare no conflict of interest.

References

1. Christensen, E., *Derivations of nest algebras*, Ann. Math. **229**, 155-161 (1977)
2. Dai, L., Lu, F., *Nonlinear maps preserving *-Jordan products*, J. Math. Anal. Appl. **409**, 180-188 (2014)
3. Darvish, V., Nouri, M., Razeghi, M., Taghavi, A., *Maps preserving Jordan and *-Jordan triple product on operator *-algebras*, Bulletin of the Korean Mathematical Society. **56**, 451-459 (2019)
4. Darvish, V., Rohi, H., Taghavi, A., *Nonlinear *-Jordan derivation on von Neumann algebras*, Linear and Multilinear Algebra. **64**, 426-439 (2016)
5. Darvish, V., Rohi, H., Taghavi, A., *Additivity of maps preserving products $AP \pm PA^*$ on C^* -algebras*, Mathematica Slovaca. **67**, 213-220 (2017)
6. Fang, X., Li, C., Lu, F., *Nonlinear mappings preserving products $XY + YX^*$ on factor von Neumann algebras*, Linear Algebra Appl. **438**, 2339-2345 (2013)
7. Herstein, I. N., *Jordan derivations of prime rings*, Proc. Amer. Math. Soc. **8**, 1104-1110 (1957)
8. Ma, D., Pang, Y., Zhang, D., *The second nonlinear mixed Jordan triple derivable mapping on factor von Neumann algebras*, Bulletin of the Iranian Mathematical Society. **48**, 951-962 (2022)
9. Sakai, S., *Derivations of W^* -algebras*, Ann. Math. **83**, 273-279 (1966)
10. Šemrl, P., *Additive derivations of some operator algebras*, Illinois J. Math. **35**, 234-240 (1991)
11. Šemrl, P., *Ring derivations on standard operator algebras*, J. Funct. Anal. **112**, 318-324 (1993)
12. Šemrl, P., *Jordan *-derivations of standard operator algebras*, Proc. Amer. Math. Soc. **120**, 515-519 (1994)
13. Taghavi, A., Tavakoli, E., *Additivity of maps preserving Jordan triple products on prime C^* -algebras*, Annals of Functional Analysis. Springer. **11**, 391-405 (2020)

Ali Taghavi,
 Department of Mathematics,
 Faculty of Mathematical Sciences,
 University of Mazandaran,
 Babolsar,
 Iran.
 E-mail address: taghavi@umz.ac.ir